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e 000000000 D0000D0D000DD0OR} 000000000000 e(t), n(t), b(t) O
O F(t) == (e(t),n(t),b(t)) 0 3000000000000000000000000

d%f) = (@(t),7' (1), b(t)),

% det F(t) = det(e'(t),n(t), b(t)) + det(e(t),n’(t),b(t)) + det(e(t), n(t), b (t)).

ggooobod

e J000D 4000013000a closed interval and denote = a closed interval, and denote (0 0 O).
e J0J0U0ODO 500004000 linear differential equations = linear ordinary differential equations
e 00000 6000010000 a closed interval O = a closed interval
e 00000 600000004000000|X;5108)—X;(0)] = [X41(6) — X;(t)|m
e 00000 600000000X(t)=Xigxga = X1t =Xaxe.a)
e J00OIDN700001000X € C%°J,M,) = X € C%°J, M, (R)).
e J00D0DO 700O0O010000X if of = X is of
e 1000DO 7000UDO17000there is = there exists
e 000D 90000000400 (1.13) 00 X(£)2(t, &) = X (¢)02(t, &)+B(t, &)
e 0000090000000 3000 (fo,au,...,an) = (to,o1,...,0m)
e OO0 1000ODOO20D00O
dz ~a(z dZ _ _~ -00 OB

Y 70 Y g0 x L 97
dt X oy = dt + aaj+8aj

e JOOODO 1I00DDOODOS000O

8() '7'7 ) 1
</ X(r 90, Y~ (1) dT) Y (t)
0X t o2(r,&)  OB(1, &) \.,_1
7= X Y Y (1).
= 80@ (A < () oo + Oa; (r)dr) Y ()
00000 1000007000 Hence X is = Hence X is

0000 110000000 4000000 2000000000000 1200001200013000
(3.4) = (1.16)
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